[ Efficiency vs vertpos |
0.05

0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.0
0.005

0
il

.................................................

.................................................

X

0.9

RN RARC S o RARRE RRRLS LARAN LAALAE RALAE REAAE RARAN LARAE RALLN LARR

0.8
1072

——DOW T ™S
o BN MedetO-dpd

— TTT-MS_detd-dpdg
Efficiend " D3mM-TT-MS deto-chiz

0.02
0.018
0.016
0.014
0.012

0.0
0.008
0.006

0.004---ff-=--tHAs bF - -e -1 b f e
0.002 SRR SEEEEEEL LS W | I B R
;.\,O""'""""'i""i""i""

[y
TTTT] T
s
- o
s
=
i
P
-

o
e
=
¥
*

-

0¥™p—=20 -10 0 10 20 30

[ Efficiency vs. sim PV z |
0.05

0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.0
0.005

o s _|Luq_l_lll|||||||||||||||||||||||||||||||||||||||||

=10



	Contents
	Page 1


